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(Algebraic Expression)

A 7.1
1. (a)11x* —8x +4 (b) 6y° —8y* +y -9
+6x% +7x -5 +3y° —8y> —y +7
17x2-x-1 9% ~16y2 -2

(c) 3x —5+6x% +x° —x*

—5x+6+2x% -2x° +2x*
2x+1+8x% —x3 4 x*

(d)1+x-x?-x°
-6 +3x+2x% —x
5+4x+x%-2x

3

3 =5+4x+x%-2x°

5+6y+y* —8y°

0+4x+6y+x> +y> —2x° —8y°

(e) 3+2y—5y* +6y°
~8+3y+0+7y°
-5+5y —5y2 +13y° =-5+5y —5y* +13y°
5+6y+y? —8y°
0+11y —4y2 +5y3

(f) 5x* —6x>+2x—4x° +6
—4x* +3x°% -3x +2x% -6
x4t —3x3 —x-2x% +0 =x*-3x% —x-2x2
0+3x3 +x+x2-2
xt—0+0-x2-2

=x*—x? -2
2. (a) 3x° +5x% —4x+6 (b) x> —x?+2x-19
2x% +x%—4x+6 x% —4x% +3x-20
x° +6x2% —8x +12 2x% —5x2 +5x -39




(c) 2x* —3x> +4x -7 (d) x* —6x +x% —3x +1

—x?+x%—x-1 —x° +7x% —x? +6x-8

x?—2x%+3x-8 % +xt +x3+043x -7
) 3x% +x2 +6 (f) x> —x*+3x-2

—x%-3x+8 —x% -5x+6

2x° +x? —3x+14 x3—2x% —2x +4

(g) x> —3x? +5x -1 -n=2x> +x% —4x+2
—n=2x%+x% —4x+2 —x% +3x* -5x +1
n=—x>+4x? -9x +3)=—x> —4x? +9x -3

2x% +x% —4x+2

—x% +3x% —5x +1

x% +4x%2 -9x+3

(h) x* +2x2 -3x+7-m=x>+x*+x-1
—m=x+x?+x-1-x*-2x%+3x-7
m=—(—x*+x> —x? +4x -8)=x* —x° +x* —4x+8
X3 +x%+x-1
—x* —2x% +3x -7

—xt+x®—x%+4x-8

. (@)ab —bc+bc—ca +ca —ab
=(ab —ab)+(-bc+bc)+(—a +ca)=0+0+0=0
(b) a =b+ab+b —-c+bc+c—a +ac
=@ —-a)+(-b+b)+(—+c)+ab +bc+ac
=0+0+0+ab +bc+ac=ab +bc+ac
(c) 2p2q2 -3pg+4 +5+7pq —3p2q2
=@2p*q* =3p°q*)+(7pq ~3pq) + @4 +5)
=— 2q2 +4pg +9
(d) 12 +m? +m? +n? +1% +2Im +2mn +2nl
=12 +1%)+(m* +m>)+n* +2Im +2mn +2nl

=212 +2m? +n? +2lm +2mn +2nl



4. (a)12a —9ab +5b -3 (b) 5xy —2yz —2zx +10xyz
—4a +7ab -3b -12 -3xy —5yz +7zx +0

8a —2ab +2b -15 2xy —7yz +5zx +10xyz

(c) 18 =3p —-11q +5pq —1pq2 +5p2q
+10 +8p —7q9 +3pq —5pq2 —4p2q

28 +5p —187 +8pq —6pq” +p*q

A 7.2
1 (a) @x°)x(5x%y) (b) By’z)x(6xy’z%)
:(4X5)Xx3+2xy :(3X6)Xxxy2+3le+2
=20x°y =18xy°z>
-5 4
32 73312 d [x3 tzjx[ 2t3j
(€) (=3x7yz)x(7x7y") ()| o>y s Y
—(3x7)x 223 xy 2 xz :(_5x4jxx3xyl+2xt2+3
16 25
1
=-21x%3 — 2 335
x’y’z 20x y

(e) V) xa®xbh? xc!*8 xz4 =_—1a boctz*
5 9 9

—1 25, 9,34
() (27(117) 9a°b™)



2. (a) (-3x7y)x4y’z (b) (~7ab?c)x (3a°bc?)

(-3x4)xx?xy*?xz (=7 x3)xa "2 xp 1 x 12

—12x2y32 a=3,b=4,c=-1

x=1,y=-2,z=-1 =-21a°’

12 x(1)? x(-2)% x (1) =-21x(3)° x(4)®x(-1)°

=12 x1x-8x-1=-96 =21 x27x64 x-1
—36288

(©) (azbj x(5ab?)

:[_7x5)xa2” b1+
5

~7a%3,a=3,b=4
—7x(3)° x(4)% =7 x27 x64 =-12096

9 23], (14
d %
( )( j (27 Y )
:(9x_14jxx><y2+3xz3xb=(_2jxysz3b
7" 27 3

=x=Ly=-2,z=-1,b=4

:_32><(1)><(—2)5><(—1)3x4

=_32><1><—32 x =1 ><4=_256

3. (a) 3a°b x(=7a°b?c®)x (—4b°c?)
=@ x-7x-4)x(@*xa’)x (b xb>xb?)x(c® xc?)
:84xa2+3Xb1+2+3><c3+2:84a5b665
(b) (—4xy)x (5xy’z°)x(6y’z")
=(—4 x5 x6)x (x* x x)x (yx y? x y°)x (z° xz*)
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(c) [ X yzjx( yzzjx(—9x}/za)

:@X;X_gjx(XB xx)x (yxy? xy)x@Exzxz®)

:—4><x y1+2+1 1+1+3 _ _ 4x y

(d) (_761?21/10) x But’v)x (_1154 vzj

-6 14\ ., .3 )
= — x3x Xt xt)x(uxu)x(vxovxo
(7 15) (12 x 1) 1 ) x )

12 12
=—><t2+3xu1+1><vl+1+2 5 204

4. (6x°)x(-12y°z)x (5xyz?)
—(6x 12 x 5)x x> xy 21 x 212 = 360 x4y 2>
x=-1,y=2,z2=-3 = -360x(-1)* x(2)’ x(-3)°
=-360x1x8x—-27 =77760

5. 4 bczj (_yazbjxlob%
9 5

[ ; XlO) 1+2 ><b1+1+3 ><C2+1

=—24q 3b5c3 =a=1,b=2,c=3
=24 x(1)° x(2)° x (3)° =—24 x32 x 27 =-20736
T 7.3
1. (a) 3x*@y —5xy)

=@x% x4y)—@x* x5yx) =@ x4 xx? xy) =B x5xx* xy)
=12x%y -15x7y

(b) —4x%y(5x* —6y)
=(-4x%y x5x%)— (—4x’y x 6Y)
=(—4 x5 x ¥ xy) (4 x6xx? xy'*h)
=-20x*y — (-24x%y?)=-20x"y +24x%y>



(© §x<x3 ~3y%)

=(6x><x3)—(6x><3y3) =éx4 —Exyg'
7 7 7 7

1 4 4
d) —xy|3x -2
()2xy(x SyXJ

1 1 4 3
= —xyx3x |—| —xyx—y’x
(2 / J (2 15y J
1 2 1 4 o 4) 3 2 2 24
=| =x3xx7y |-| = x=xX =—xy-=x
R E T b
(© Sxy*(x+2y)
9 , 9 2.9 229 3
=Zxy xx+2yx=xy-==x +9x
5 Y Y 5 Y 5 Y Y
(f) 10220 (0-1a —0-4b?)
=10a % xia ~10a % ><ib2 =a’h—4a%?
10 10
(g) 2-5xQxy* -3y°)

25 2 25 3 22 3
T xx2xxx —| = xx3 =bx -7-5x
(10 y] (10 yj ! !

27 2

:(_leyzz X 9x2yzj —(3y X _leyzz)
27 2 47 27

(h) 2y (9x2yz —Z’y]

332,1_3
= T Xyt + Y’z
3 y 9 Y

. (@) xy(y3 —3x)—4(x2y +6z)+2y2(x -4)
=(xy xy* —3x x xy)—(4x7y +6 x4 x2)+y*x —2 x4y?)
=y’ —3x?y —4x%y —24z +2y’x —8y?
=xy® —8y? —7x%y +2y%x —24z
(b) x* @2 —4y*)+x(xy* —3x)-3y(y —4x°y)
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=5a Za —3bJ+4b Za —3bj
4 5 4 5
2
=3—5a2—3ab +7ab—12b =3—5a2—1—2b2 +4ab
4 4 5
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=4a° —a%h +ab? +3b°
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(f) —4a’b —2b%*—20a°b
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=(5p +3)(39 +5)



4. (@) M? +6m +9

=m? +2x3m +3x3 [(a +b)* =a? +b? +2ab]
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=(p-5)*
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(b) m* 256
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=(m? -16)(m* +16)
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(c) 16x% —49
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(d) 144m?* —289n°
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(k) 49 —x* +8xy —16y>
=49 —(x* —8xy +16y?)
=49 —[x? -2 x4xy +(4y)*]
=49 —(x —4y)* =(7)’~(x —4y)’
=(7+x-4y)(7 —x +4y)
(1) 25a2 +10ac +c? —49b>
=[(5a)* +(c)* +2 x 5 xa xc]—(7b)?
=(5a +c)* —(7b)?
=(5a +c+7b)(5a +c—7b)

. (a) (atb)? —4ab (b) (m —2n)* +8mn
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=@?+b*-2ab) =m?+4n*+4mn
=(@a -b)* =(m+2n)>?

(€) (@?+b*)* —4a?b?
=a*+b* +2a’b* —4a %
—a*+b* -2a%% =@?* -b?)
(d) x* —(y +2)*
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() @?-b%)? +4a%?
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(f) (x-z)* —x*
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=[(x—2)? +x*] [(x —z +x)] [x =z —«]
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= (mx)? +(ny)2 +2mnxy +(nx)? +(my)2 —2mnxy
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(h) (ax +by)2 —(bx -sz)2
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(y+6)(y +3)
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TOASHA = —17 x —4 =68
x? —17x —4x +68

x(x =17)—4 (x =17)
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TR =25 x2 =50 & W AN =7 +(-3)=-10
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x(x —13)-9(x —13) 6z% +9z -2z -3
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+
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-9x -6
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—
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—32x% +52x
—32x% +40x
+ _
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T _T_SX

I (x +5), (x* +4x° —2x2 +10x —25) il TH UAETE B
6. (x2+1), (x° —x* +3x> +4x% +4x +6)
x +1)[ x* +3x +4x? +4x+6&x —x% 4 2x

—Z+2x +4x?
a4 2
+ +

;7/3 +5x7% + 4x
3 +2x

5x%-2x + 6

ama: (x2 +1), (x° —x* +3x% +4x2 +4x +6) H TH HETS TE 2|



T TR a1 N wlia<or

(Linear Equation in One Variable)

A 9.1
(a) 7x-9=12
7x =12 49
=7x=21

7 1
x=3

(c) 14y -8=13
= 14y =13 +8

=14y =21

U
<

I

I
N | W

U
<
Il
o 2 2

I
|
@

+
N | o1

()

|
|
N | U

| @lx
|
N[

W[R WK W[R
Il
|
0}

[
|
i N‘

(b) 17 +6p =9

(d)

(f)

= 6p=9-17
= 6p=-8
-8

= p=—o
p6

—4
p==

3
1—5—73(:9
4

21 -3 -3
= =

S x=—=
-28 4 4

3x _
5x +2
=3x=-3(5x+2)

=3x=-15x-6

= 3x+15x=-6

=18x=-6
-6 -1 -1
> X=—=—
18 3 3



(8)

(1)

(k)

2m+1 3

Bm-1) 2
=22m+1)=3@3m -1)
=>4m+2=9m -3
=>4m-9m =-3-2

= -5m=-5
-5 _-1

Sm=—=—=
-5 -1

1

=m=1

3y+7 -1
5y-11 2

=2@By+7) =-1 (5y-11)

= 6y +14 =-5y +11
=6y +5y=11-14
=11y =-3

:y:I—l

7y+3_17

5-y 3
3(7y+3)=17(5-y)
=21y +9=85-17y
= 21y +17y =85-9

=57 -3n)=1(n+3)
=35-15n=n+3

(h)

()

)

dy+5_9

2y-3 13

=134y +5) =92y -3)
= 52y +65 =18y -27
= 52y —18y =-27 - 65

=34y=-92

=9 +15=2p+1

=9 -2p=1-15
=7p=-14

-14
p 7 p

9-2_17
y+6 5
=50y -2)=17(y +6)
= 45y -10 =17y +102
=45y -17y =102 +10
= 28y =112
1,
y=4

4y +1 5
8y —4
= 4y+1=2@8y—-4)

(n)

=4y +1=16y -8



(0)

@)

=35-3=15n+n
=32 =16n

=16n =32

32
S>n=—"—=n=2
16

(x+1)-2x+4) 1
3-5x 23
x+1-2x-4 1

3 -5x 23
-x-3 1

= =
3-5x 23

— 23 [-x —-3]=1(3 - 5%)

= -23x -69=3 -b5x
= -23x +5x=3+69

= -18x =72
:>x=£=—4
-18
2p-(7-5p) _7
9p -3 +4p) 6
L 2po7op 7
9p-3-4p 6
:>7p—7:Z
5p-3 6
=6(7p-7)=7(5p-3)
=42p —-42 =35p -21
= 42p -35p =42 -21
=7p=21
21
=>p=—"-=3
P 7

=p=3

(p)

= -12y=-9
9 3
T
L3
4
5(x-4)-3Q2x+4) 3
1+2x 7
5x-20-6x-12 3
1+2x 7
_ x-32_3
1+2x 7

=7(-x-32)=3(1+2x)
= —7x—-224 =3 +6x
= -7x—-6x=3+224

= —13x =227
-227
= x=
13
2x+3)-(5x-7) _-8
6x +11 3
2x+3-5x+7 -8
= @ @ =
6x +11 3
-3x+10 -8
- =
6x +11 3

— 3(-3x +10)=—8(6x +11)

= —9x +30 =—-48x - 88
= 48x —9x =-88 -30

=39x =-118
_—118
39



2 -50)+34 +x) )y 15@Q-m)=5(m+6)
3-2x 1-3m

—8-10x +12 +3x =2 (3 —2x) = 20 —1om =5m =30 _10

(s) =10

1-3m 1

— 7x+20=6—4x -, ~20m _10

1-3m 1
= 7x+4x=6-20 = —20m =101 —-3m)
— 3x=—14 — —20m =10 —30m
o4 — —20m +30m =10
:>x=1;L :>10m=10:>m=18=1

=>m=1
3T 9.2

@) 7-2(x-3)=9
—=7-2x+6=9 = 2x+13=9

= -2x=9-13 :x:_;l:x:Z

qA T =7 -2 (x —3)

x =2 @A TR
=7-22-3)=7-2x-1=7+2=9

AT 98 =9

AT T = ST e, TR SR W B
(b) 3y +2(y+2)=12-Q2y -5)
=3y +2y+4=12 -2y +5
=5y +4 =17 -2y
=5y +2y=17-4



=3x 13+2(13+2j 39+2(13+2j
7 7 7 7

39, ,(13+14 .39 ,,[27]
7 7 7 17
39 54 93
>+ —==
7 7 7
T 98T =12 - 2y - 5)
Bmw
7
:>12—(2><13—5j :»12—(26—5j
7 7
312—(26_35] =12 - 9j:>12+9
7 7 7
12 9 12x7+9 84+9 93
=>—+= = = =—
1 7 7 7 7
o g8t = ST veT, SEfeTy SR W @

(©) (5x—4)—(Bx-1)=3 (d)3(3x —4)—(4x —5)=6
=2x-3=3 9x —12 —4x+5=6
=2x=3+3 5x—7=6
=2x=6 5x=6+7
:>x:§ 5x =13

2
=x=3 ng
5

T v = (5x —4)—(3x —1) T UeT =3 (3x —4)— (4x - 5)
x=3T@A T x:ET@ﬁ‘K
~(5x3-4)-(3x3-1) 3(3><1§ 4)—(4x153—5j
—(15-4)-(9-1) 3(359 4)—(?—5)



“11-941 :3(39—2())_(52 —25)

5 5
=12 -9=3 zg(wj_(ﬂj
5 5
T T =3 -7 27
5 5
T 98T = T g =€=6
TOfeTT 3T T 2 T T =6

TR 9eT = AT, 98 ST SR EE 7

(e) 15(x —1)—4 (x =3)=2 (7.5 + x)

(f)

=15x-15-4x+12 =15+2x =11x-3=154+2x

=11x-2x=15+3 =9x =18
=9x =18 :>x=198:>x=2

St 98T =15 (x —1)—4 (x —3)

x=2 W W

=152 -1)-4(2 -3) =15(1)-4 (-1)
=15 +4 =19

FAM GG =2 (7.5 + x), x =2 @I T
=2(7.5+2)=2(9.5)=19

T weT = ST va, ST ST W B
3-5(6—-7x)=3(8x —11)— (9x —26)
3-30+35x =24x —33 —9x +26

— 35x —24x +9x =—-33 +26 +30 -3

— 44x —24x =56 —36 = 20x =20
:>x=§8=1 =x=1
AT TR =3 —5(6 —7x)

x=1 @AW

=3 -5(6-7x1)=3-30+35=8



g qer =3 (8x —11)— (9x —26)

x=1T@T®
=3(8x1-11)-(9x1-26)=24 —-33-9 +26
=50-42 =8
S U8 = <RI U, EfT IO WE 2
4x+18 9x
=2 h =15
(8) =0 ()7_6x
4x+18 2 9x _15
5x 1 7-6x 1
=1(4x +18)=2 (5x) =1(9x)=15(7 —6x)
—4x+18=10x = 9x =105 -90x
=4x-10x=-18 = 9x +90x =105
= —6x=-18 = 99x =105
-18 105 35
=>x=— > X=—=—
-6 99 33
35
=x=3 =>x=—
33
T 9
X =3 @I ™ B R
7 —6x
374X3+18 :xzﬁl'@%f‘ﬂ
5x3 35
9,3 315
:>12+18 — 33 _ 33
15 7 gy 35 231-210
33 33
30, =315 15 zpitwar =15
15 21
AT 987 = ST 98T AT 987 = ST 98T
3T 8 I TE 2 3T T8 I TE 2
. 5-7y -8
G 2—Y_—°
2+4y 7
= 7(5-7y)=-82 +4y) —35-49y=-16 -32y

=32y -49y =-16 -35



= —17y =-51 = y=—"-3
y y=—1
= y=3
et g =2 7Y
2 +4y
y=3T@%['CI'{'
5-7x3 5-21
j—
2 +4x3 2 +12
:_—16 :_S,Eﬁqazig
14 7 7
AT 98T = ST e, THY T8 ST 9 2|
z_3
. 4 5 -3
G) ==~
3
5z -12
20 _3 N 3(5z-12) -3
4-21z 20 204 -21z) 20
3
2oz —5z-12 =-1(4 -21z)
4-21z
— 5z-12 =—4 +21z — 5z -21z=-4 +12
= -16z=8 :>z=_—8:_—1
16 2
-1
=z=—
2
z_3
st =4 5 .- “lww
4 2
— =7z
3
-1 3

§ 5 -5-24 -29 -6 -3
4 7 40 40 40 20
3 2 8+21 29
6 6

TR 9 = ST O, 37q: 9% SO el 7




) 2 (x —1):(1 Jr3x—6j

3 4

_, 2x-2 _4+3x-6 —4(Qx-2)=3(4 +3x —6)

3 4
= 8x-8=12+9x -18 =>8x-8=9x-6
= -—x=2 =>x=-2
i ey = 2 )
x=-2T@I R
_2(2-1)_2(3)_-6__

3 3 3

Em?wz(l +3x4_6}=x:—2 WA

=(1+3x(—2)—6j=(l_6—6j
4 4

:(4 —6—6j=4 -12_-8__,

4 4 4
T e = oI ve, THfAT I% SO W R
X—l _3(x_1):2
5 10
N Z(X—l)—3(x_1):2 =2x-2-3x+3=20
10
= —x=19
x=-19
aTq‘["qa:x_l —3(9;(;1)ﬁx=—191'@':1‘1'(

_-19-1 3(-19-1)_-20 3(-20)
5 10 5 10
_2(-20)-3(-20)
10
-40+60 20
= =——=2

U]

10 10
T UE =2 TR U = ST U, SHT 9% S9% 9




x+1 =2x—4
x-1 2x+4

(m)

2x +4 x(x+1)=x-1(2x -4)
2x% +2x +4x +4 =2x% —4x -2x +4

6x =—6x
6x +6x =0
12x =0
x =0

am?wz“i,xzowﬁqt
x_

T =2 L _owmw
2x +4

2x0-4 0-4

2x0+4 044
T e = S e, T 9% SR W R

1 1 2
() 4=
x x+1 x-1
x?—1+x? —x=2(x* +x) 0
x(x2 -1)
x2-1+x%—x-2x>-2x

x(x?-1)

=0

Bx-1=0=x=—
3

1 1

-1

LHS =—+

TH1+2( 1) 3
(x-1)(x+1) «x




_x+14+2x-2 3
1?2127 x
x?+x+2x% —2x=3x2-3
3x% —x-3x* +3 =0

—x+3=0
—X =—
-3
X =——
-1
x=3
v 1 2
T I =——+——, x =3 WA
x-1 x+1
1 2 1 2
3-1 3+1 2 4
_2+2 4
4 4
. 3
AT 9&T =

X
x:3r@ﬁqr§=1

T 98 = ST U, ST T8 IO w7

m (Quadrilaterals)

= 10.1

1. femEm e fom § w wgee ®
(a) T FIFTT
(b) T FIfTT
(c) T HIfSTT
2. IgHS & <A BT H AT = 65°, 83°, 104°
AR I T AT = 360°
< R0 A AT = 360° —(65°+83°+104°)
=360°-252° =108°



3. TGS % <1 IO AT =80°,120°
T IO ST AT =80°+120°
=200°
T Y HIV H HT =360°—200°
=160°
i s 5T B T TR = 1620°=soo
T LA HT =80° I 80° T BN

4. IS % TH HI0 H AT =150°
T <1 3T 1T S /T A AT =360°-150° =210°

FifR 3T AT IV TEE ©, 7 =2130 =70°

Y YAk 10T S AT 70°,70°,70° BRM
5. <RI S0 ol ST =3:4:5:6 B
FifeR SIRI <107 T @ 3Td: el AT 360° o S BT
=3x+4x +5x +6x=360°
18x =360°
X =316;=20°
x =20°
T HH W@ T
3x20 =60°
4 x20 =80°
5x20 =100°
6x20 =120°
6. <RI IO T ST =4:4:5:5 2|
Fifer =IRY ST A1 & ;T A 360° % SR B
=4x +4x +5x +5x=360°
18x =360°

UV



360°
X =

s =20°
x =20°
x T HH W@
= 4 %20 =80°
- 4 %20 =80°
= 5x%x20 =100°
= 5x20 =100°
7. (a) 9T H G =6 (b) SIS ! T =9
TGS o TEhIN TGS & AlfeshIo
1 3T 360° B 2 1 AT 360° B B
amaﬁnm:g’gozmo wﬁng’gozzxoo
(c) o &M =10 (d) o1 it G =18
TG F SR TGS % SAfERIN
1 3T 360° Brell 2| 1 3 360° Bl B
360 ... 360 o
Wﬁmzﬁz% amﬁan:E:zo
8. SEYS o SEShITT T AN 360° Bl B
360°

off A HE =" =15
ST ESEC2I a°

9. 371 I i HIY =165°
SfgshIor Tt AT 180°-165° =15°
SfEwhIvi 1 FeT A =360°
360°
15°

A ol T&A = 24

10. 37 I k! HIY =140°
FfEshIoT S | =180°—140° =40°

Sfgsehivll 1 e ART =360°
360° _
40°

Tell St T = 9




31T 10.2
1. @I S
2. /B=40, /DAB = Z/ADE = U&= U

/DAB = ZADE = T&H<R 0
60° = Z/ADE

ZADE + ZADC >180 — 9] 0l
ZADC =180 -60 =120
ZFCD = ZABC => W& I
ZFCB =40

/BCD + /FCB =180
Z/BCD =180 —40
Z/BCD =140

3. T GHfgag T9@E PQRS W =) o o ff
PQIISR 3R PS =QR

PR 3R QS 3% foredt §I
o : SR U8 W Q) o PA 3 QB @ifam)
p Q
v
] |
S A B R
APSA 3R AQRB #, 8AR U1 21
PS =QR (f&am mam)

ZPAS = ZQBR =90° (fHiu1 & TFER)
~.PA = ZQRB (3 FHMR @3t & e oead i)
= /ZPSA = ZQRB
= ZPSR = ZQRS (¥t gr)



APSR 3 AQRS #, AR U4 2
PS =QR (e ®)
/PSR = Z/QRS (I f&g)
SR =RS (9™M)
APSR = AQRS (THUHY FATHHA HHEE §RI)
PR =QS (St grn)
THfTT THIEETE THers o farentl sRrer & 21
4. = HifTQ|
5. FHIR TGSt o TG U H ARTHA =180°
ZA + £C =180°
80°+-C =180°
ZC =180°-80°=100°

STE IVl T AR =180° AV o
ZA + /B =180°
80°+/B =180°
/B =180°-80°
/B =100° 100°

809

T I 1 AR =180° C
100 + D =180°
ZD =180°-100°
ZD =80°
6. 1 HEW I T STAM =3:2
T S T RO H ST 3x:2x
Ho TGS o Q1 TR IV I ART =180°

3x+2x =180° e 1
x =180 360
50
x =36°
T RV T STIAE =3x:2x

108°

108°

72°




=3x%x36:2 x36
=108°:72°
Fiifeh THFR TS % TR 0 SR B ¢
=108°, 72°, 108°, 72°
7. T, THIGR SIS S e it rvangar shA: 3x T qem 4 x A
2, e 3 URATT =56 A ©
2 (3x +4x)TH =14 x T
=14x=56
X =15:=4
x =4
T ST = (3x4) el =12 9+t
T ST = (4 x 4) 9 =16 T

8. Wae
AB =10 94t
BD =16 94t
OD =OB

o =PB
(yon-22

OD =8

AB =BC

BC =10
OA? =AB? -OB?
OA? =100 -64
OA? =36

OA =6

OA =0C

AC =0OA +0C

=6+6=12 94t
AC =12 9t

R L



9. 3I™¥d ABCD ¥

BM L AC [BM @ § AC | | D
DN L AC [DN & & AC W |

/M= /N [ 5l I 90° I 2 | o
BC = AD [ faadia 9=i |

90°

/BCM = /DAN [-.- G5 & I | A
TG ABMC = ADNA

C.P.CT THIgaR
34T BM =DN

aafafa

(Mensuration)

I 11.1
1. (a) T ?
PQ=QR =RM=MN

= NO=OP =53
NQ=11 I+t 5
T NQMR H,

TEAR e, NQ = 11 9+t
MR =5 9+ 5
T NQ W T & RS %,
T, TS S SEE RS =4/(RQ)> — (SQ)?
el 25Q = NQ - OP
25Q=11-5
25Q=6
SQ =3 ut
¥, RS =+/(5)% —(3)?




=425 -9
_i6
RS —4
HH,WNQMRWW:;XRSX(QN+RM)

:;><4><(11 +5)

=2 x16
=32 o o
T TS AT GThA =32 +32 =64 R SH
(b) fe &, N
OP = RM =5 ¥
PR=MO =8 &+t M S
T, ST MOPR &1 &%a
-~ PRxOP .
=8x5 R 5
=40 9+t
s, MNO H, Q
3MER, MO = 8 ot
FEE NS+TQ=11-5 [Sel NS = TQ]
NS+NS =6
2NS =6
Ns =%
2
NS =3 at

ﬁrgaMNOEFr%W:ixamtxﬁri

:lx8x3
2

=12 9+#?
319, ISt PQR &1 &197%d = st MNO &1 &5%a
=12 |t



37q: TS H FTHA = 3TFd MOPR & &%a
+ IS MNO 1 &5%a + 195 PQR &7 &%at
=40 +12 +12 =64 Iit?
2. (a) AP=25Ht

EP=30" = PQ=20H
QR=154 = PR=20+15=35%
RC=20H = RD =25+
AC=25+20+15+20=80 #t

319, AAPE &1 %awz/lzx% x301° =375

ARDC %1 %awz/lzx;ow %25 =250 T2

AABC @ %am:/lzx,so“ x 30 =1200 >
WEDPRWWzixPRx(EP+RD)

:;><35><(30 1+25)

 35x55
2
D92 965
2
3Td: TS BT &ABA = (375 +250 +1200 +962.5) Hr2
=2787.5 2
(b) PW =20 #t
PX =10 +20=230 XZ =20+15
QW =25+ =35
VX =20t WY=10+20
XY =20 #t =30 #
YZ =15+ YS =15+15
RY =30 =t =30 #
7ZS=15
TZ =30 #



APQWW%W:;XPWXQW
1 2
:Ex20x25=2501ﬁ
Avaesram:;xPxxvx
1 2
:Ex30x20=300fﬂ
ATzsw%srcm:;xzst
=;><15><30=225 02
ARYSEFr?éThTfr:;xYSxYR
=;><30><30=450‘5ﬁz
WTVXZWW:EXXZX(XV+TZ)
1
:Ex35><(20+30)
=;><35><50=875 2
WWYQRWW:ixWYx(QW+RY)

:;><30><(25 +30)

=15x 55 =825 >
TGS A &A% = APQW T &T%S + APXV Tl &k

+ ATZS 1 &%e1 + ARYS 1 &5T%el
+ I ATVXZ T 857%he + THers AWYQR &l &5
=(250 +300 +225 +450 +875 +825) Ht>

=2925 H2



37 11.2
1. wwarg =14 i, =S =10 ), S=r =5
FH H T %A =2 (Ib +bh +hl)
=2 (14 x10 +10 x5 + 5 x14)
=2 (140 + 50 +70)
=2 (260)
=520 ol 1S
2. o =32 e, wer =28 e, S =12 At
STETIF TAHE! I &o = fesd Tl T &0
=2 (Ib +bh +hl)

=2 (32 x28 +28 x12 +12 x32)
= 2 (896 +336 +384)
=3,232 qHi>
THE! I A U T2 =14.50 ufd T2
T THE! N oA U A = (14.50 x 3232 ) T
—46,864 TIT
3. o =8 T, wISE =6 i, Surg =2 #

HEYTH TR 1 o = I & T Fo
=2 (Ib +bh +hl)

=28 x6+6x2 +2 x8)
=2 (48 +12 +16)
=152 =t #
AR 1 g U W2 =60 TIT
P dIe e U H2 = (152 x 60) FIC
=9,120 9T
4. StFg F AT = (60 x 40 x 80) A
MR T &THA =1 x b =60 x40 =2400

19 I53 T &R =1 x 11 =60 x 80 =4800
o =4800 +2400

=7200



5. fn?-

SR o S = 50 T, =S =40 e

3R ST A1 T =32 A

Savaeh ToRaTel ST &%l = SEhYSS T AT +

T % F HT &THA
=2h(+b)+Ixb
=2 x32(50 +40) + 50 x 40
—~64(90) +2000
=5760 + 2000 =7760
Rt =it Sier = 64 A

foraret 1 STRe
foreTer o T —
b ot =t =ietg

_7760 _ 151 05 it
64

100 STSFET A1 Boh o ToTT 3TTevares fatare =100 x121.25 3t

=12125 9t
100 9t =1 #t

12125 9t = 1?(1)35 =121.25 HieX

6. (TwE) =225, (k) b =10 ¥, (F=E) h =7.5 Tt
FA T Vo =2 (Ib +bh +hl)
=2(22.5x10 +10 x 7.5 +22.5 x 7. 5) Qe
=2 x468.75 THi?
=937.5 |2 =9.375 Hi>

T T = e
9.375
.+ Im =100 cm
3Tq: e Tt G& =100.
7. AT =12 I, e’ =10 A, o =8 A
YT T &I 119 =18.56 2




FA T &A% =2 (12 x10 +10 x8 +8x12)
A =2 (120 +80 +96)
A =2 (296)
A =592 qFr?
Im =100 ¥2

&A% =5.92 Hr?
18.52

TEA R G =~ x100
5.92
TR ol FE& =313
. R AU = x
TS (1) = 5x
et (b) =3x
Sl () =2x
T W, STIARRR S 1 THU &o = 1550 T2
=2 (Ib +bh +hl)=1550 Iwi>
=2 (15x2 +6x% +10x%)=1550

_1550 _

=62x% =1550 = x> 25

=x?=\25=x=5
=] =5x=5x5=259Ht
b =3x=3x5=15%
h =2x=2x5=10 9
. HMET S ST = x
T (1) =4x
e (b) =2x
S (1) =x
¥ W, STIARRR ST HI THUF &o=2800 Tt
=2 (Ib +bh +hl)=2800
=2(Axx2x+2xxx +4xxx) =2800



=2 (8x* +2x% +4x%)=2800
=2 (14x?)=2800 =28x?=2800
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